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3agaua L-27.1.

a = 30°,

AB = 20, BC = 10,
BF =50, NF = 50,
CD =25, EH = 30,
FG =25, GE = 10,
OA =20, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =[8,7,6.5,5 H.

3amaua L-27.2.

a = 30°,

AB = 10, BC = 30,
DB =60, DF = 30,
NC =60, EH = 30,
FE =35, FG = 20,
OA =20, KG = 25.
p=10.1,0.3,0.4,0.2],
T =[8,7.5,6,5 H.

3amaua L-27.3.

a = 30°,

AB = 30, BC = 30,
DB =20, DF = 40,
NC =15, EH = 30,
FE =35, FG = 30,
OA =30, KG = 20.

p = [0.05,0.35,0.4,0.2],
T =[8,7,6.5,5 H.




3anaua L-27.4.

dj_g G =300
' P AB = 30, BC = 30,
/ DB =50, DF = 40,
NC =40, EH = 30
B D ’ :
€ pon y FE =15 FG = 30,
0 / OA =30, KG = 20.
/ 5, »=10.1,0.3,0.4,0.2],
;7\7\ H@/ T =[8,7.5,6.5,5) H.
™ ="
3agaga L-27.5.
a = 30°,
F N  AB =20, BC = 10,
[ %, BF =50, NF = 50,
K CD =15, EH = 30,
ﬂ FG =25, GE = 10,
- OA =20, KG = 25.
p=1[0.1,0.3,0.35,0.25],
E T =1[8.5,7,6,5.5] H.
HTz®
3agauya L-27.6.
N o = 300,
A AB =25 BC = 10,
BF =80, NF = 20,
CD =15, EH = 30,
FG =10, GE = 45,
OA =30, KG = 25.
HTJ p=1[0.1,0.3,0.35,0.25],
%\\ T = 1[8.5,7,6.5,5.5] H.
E
3anauga L-27.7.
a = 30°,
p AB=25 BC =10,
=1  BF =50, FD =50,

NC =15, EH = 30,
FE =35, FG = 25,
OA =30, KG = 25.
p=[0.05,0.35,0.4,0.2],
T =[8,7.5,6,5 H.




3amauga L-27.8.

,C—% G a = 30°,
- K AB = 30, BC = 30,
/ NB =50, NF = 40,
N CD = 40, EH = 30,
L A \r FE =15, FG = 30,
0 ’ OA =30, KG = 20.
M 5 p=101,0.3,04,0.2],
N H@/ T =[8,7.5,6,5.5) H.
™~ ="

3amaua L-27.9.

a = 45°,

AB = 30, BC = 30,
DB =60, DF = 30,
NC =15, EH = 30,
FE =15, FG = 10,
OA =30, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =18,7,6,5] H.

3amauya L-27.10.

a = 45°,

AB =10, BC = 30,

DB =60, DF = 30,

NC =60, EH = 30,

FE =15, FG = 10,

OA =20, KG = 25.

p = [0.05,0.35,0.35, 0.25],
T = [8.5,7.5,6,5] H.

3amauga L-27.11.

N
L

a = 45°,

AB =25, BC = 10,

BF =20, NF = 80,

CD =60, EH = 30,

FG =30, GE = 20,

OA =30, KG = 25.

p = [0.05,0.35,0.35, 0.25],
T =[8.5,7.5,6.5,5.5] H.




3amaua L-27.12.

b=

a = 30°,

AB = 20, BC = 10,

BF =50, NF = 50,

CD =25, EH = 30,

FG =25, GE = 10,

OA =20, KG = 25.

p = [0.05,0.35,0.35, 0.25],
T = [8.5,7.5,6,5.5] H.

3amaua L-27.13.

™)

\t

a = 30°,

AB = 25, BC = 10,

BF =50, FD = 50,

NC =15, EH = 30,

FE =55, FG = 10,

OA =30, KG = 25.

p = [0.05,0.35,0.35, 0.25],
T = [8.5,7,6,5.5] H.

3agaua L-27.14.

b=

a = 30°,

AB = 20, BC = 10,
BF =50, NF = 50,
CD =15, EH = 30,
FG =25, GE = 10,
OA =20, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =[8,7,6.5,5.5] H.

3amaua L-27.15.

>

&

a = 45°,

AB =20, BC = 10,
BF =50, FD = 50,
NC =15, EH = 30,
FE =35, FG = 25,
OA =20, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =18,7.5,6.5,5.5] H.




3amaua L-27.16.

a = 30°,

AB =10, BC = 30,
NB =60, NF = 30,
CD =40, EH = 30,
FE =35, FG = 10,
OA =20, KG = 25.

p =10.1,0.3,0.35,0.25],
T = [8.5,7.5,6,5.5] H.

3amaua L-27.17.

P=

a = 45°,

AB =20, BC = 10,
BF =20, NF = 80,
CD =60, EH = 30,
FG =30, GE = 20,
OA =20, KG = 25.
p=10.1,0.3,0.4,0.2],
T =18,7,6.5,5.5] H.

a = 45°,

AB =25, BC = 10,

BF =80, NF = 20,

CD =15, EH = 30,

FG =25, GE = 10,

OA =30, KG = 25.

p = [0.05,0.35,0.35, 0.25],
T = [8.5,7.5,6,5.5] H.

3amauga L-27.19.

C

o

a = 45°,

AB = 30, BC = 30,
DB =60, DF = 30,
NC =60, EH = 30,
FE =35 FG = 10,
OA =30, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =1[8,7.5,6,5] H.




3amauga L-27.20.

a = 30°,

AB =10, BC = 30,
DB =20, DF = 30,
NC =15, EH = 30,
FE =35, FG = 10,
OA =20, KG = 25.

p =10.1,0.3,0.35,0.25],
T = [8.5,7,6,5] H.

3amaua L-27.21.

a = 30°,

AB = 25, BC = 10,
BF =80, NF = 20,
CD =40, EH = 30,
FG =25, GE = 10,
OA =30, KG = 25.

p =10.1,0.3,0.35,0.25],
T = [8.5,7,6,5] H.

3agaua L-27.22.

a = 45°,

AB =25, BC = 10,
BF =80, FD = 20,
NC =15, EH = 30,
FE =35, FG = 25,
OA =30, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =18,7,6.5,5.5] H.

a = 30°,

AB =10, BC = 30,

NB =60, NF = 30,

CD =15, EH = 30,

FE =15, FG = 20,

OA =20, KG = 25.

p = [0.05,0.35,0.35, 0.25],
T =[8.5,7,6,5] H.




3amaua L-27.24.

a = 30°,

AB =10, BC = 30,
NB =60, NF = 40,
CD =15, EH = 30,
FE =35, FG = 30,
OA =20, KG = 20.

p = [0.05,0.35,0.4,0.2],
T =[8,7.5,6,5.5] H.

3amaua L-27.25.

b=

a = 30°,

AB = 25, BC = 10,
BF =50, NF = 50,
CD =15, EH = 30,
FG =10, GE = 26,
OA =30, KG = 25.

p =10.1,0.3,0.35,0.25],
T = [8.5,7.5,6,5] H.

anaua L-27.26.

b=

a = 30°,

AB = 20, BC = 10,
BF =20, NF = 80,
CD =60, EH = 30,
FG =10, GE = 45,
OA =20, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =[8,7.5,6,5] H.

3amaua L-27.27.

a = 30°,

AB = 30, BC = 30,
NB =60, NF = 30,
CD =15, EH = 30,
FE =35, FG = 30,
OA =30, KG = 20.

p = [0.05,0.35,0.4,0.2],
T =[8,7.5,6,5.5] H.




3amaua L-27.28.

a = 30°,

AB =10, BC = 30,

DB =20, DF = 30,

NC =15, EH = 30,

FE =35, FG = 20,

OA =20, KG = 25.

p = [0.05,0.35,0.35, 0.25],
T = [8.5,7.5,6.5,5.5] H.

3amaua 1-27.29.

D

0 |
4

a = 30°,

AB = 20, BC = 10,
BF =50, FD = 50,
NC =25, EH = 30,
FE =55, FG = 10,
OA =20, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =[8,7,6.5,5.5] H.

N

2

a = 45°,

AB =20, BC = 10,
BF =50, NF = 50,
CD =15, EH = 30,
FG =25, GE = 10,
OA =20, KG = 25.
p=10.1,0.3,0.4,0.2],
T =1[8,7,6.5,5] H.

L-27




OTBeTHhI.
YcioBue paBHOBecHs MeXaHU3Ma
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50.000
20.000
30.000
46.188
20.000
125.000
30.000
30.000
30.000
20.000
31.250
20.000
30.000
20.000
21.213
69.282
31.250
125.000
30.000
20.000
115.470
30.000
20.000
20.000
30.000
20.000
30.000
17.321
20.000
20.000

43.301
18.875
27.042
41.633
17.321
108.253
26.332
25.981
23.717
17.678
22.097
17.321
26.332
43.301
15.811
60.000
22.097
88.388
23.717
18.875
100.000
22.062
17.321
17.321
25.981
17.321
25.981
16.346
17.638
14.142

45.069
17.321
25.981
40.000
18.028
111.102
25.981
30.000
21.213
14.142
23.799
18.028
25.981
45.069
15.000
120.000
24.705
95.197
21.213
17.321
102.632
21.213
34.641
34.641
26.665
18.028
30.000
15.000
17.321
15.811

12.500
7.500
7.500
11.547
5.000
25.000
4.286
15.000
10.607
10.607
8.839
2.000
4.286
12.500
2.000
103.923
11.049
35.395
10.607
7.500
23.094
6.061
30.000
30.000
6.000
5.000
15.000
6.495
3.333
7.071

27.839
30.625
55.241
33.005
11.136
72.079
17.831
21.633
15.000
17.410
34.359
11.136
61.914
27.839
14.577
67.639
34.359
30.414
85.013
90.078
25.716
9.379

9.437

13.922
29.962
46.130
15.662
23.021
15.207
12.166

21.651
11.456
52.500
34.020
8.660

21.651
13.679
20.785
15.000
12.748
17.678
8.660

13.679
21.651
9.014

30.000
17.678
17.678
15.000
27.042
20.000
7.398

8.660

11.547
12.990
13.856
12.990
23.419
9.280

7.071

25.000
10.000
60.000
36.950
10.000
25.000
15.000
24.000
15.000
10.000
25.000
10.000
15.000
25.000
10.607
34.641
25.000
25.000
15.000
30.000
23.094
6.000

10.000
13.333
15.000
16.000
15.000
25.981
10.000
10.000

30.000
34.375
11.250
10.392
2.000

81.250
4.714

18.000
0.000

8.839

11.785
2.000

68.036
30.000
20.000
43.301
11.785
42.426
74.246
71.250
4.619

12.607
1.250

1.111

19.500
52.000
16.250
17.862
17.500
2.828

274.125
270.094
120.938
145.896
44.975

701.250
97.825

216.150
66.291

124.451
138.180
45.675

459.241
278.375
168.125
968.000
150.702
907.526
945.179
496.125
174.591
122.273
194.531
203.000
164.475
366.225
203.906
163.192
136.458
64.347

L-27 daitn

027L2A




Nl woa| wea| wep| wWBrF| WFE| WKG| WEH | WNC
1] 2.500 |-1.250 | -1.732 | -0.433 | 0.500 | 1.000 | 0.833 -
2| 1.000 | -0.250 — | 0.289 | -0.625 | -0.400 | 0.333 | 0.289
3| 1.000 | 0.250 - 1-1.299 | -0.750 | -3.000 | -2.000 | 1.732
4 | -1.540 | -0.385 — | 0.800 | 0.231 | 1.848 | 1.232 | 1.000
5| 1.000 | -0.500 | 1.155 | -0.173 | -0.200 | -0.400 | 0.333 —
6 | -4.167 | -2.500 | 7.217 | -1.083 | -1.250 | 1.000 | 0.833 -
71 1.000 | 0.429 —1-0.260 | -0.471 | -0.600 | 0.500 | 1.732
8 | 1.000 | 0.500 | -0.650 | -0.520 | -0.400 | -1.200 | -0.800 -
9 1.000 | 0.354 —| 0.354 | 0.000 | 0.600 | -0.500 | -1.414

10 | 1.000 | -0.354 -1 0.236 | -0.354 | -0.400 | 0.333 | 0.236

11 | -1.042 | -0.884 | 0.368 | 0.221 | 0.589 | 1.000 | 0.833 —

12 | 1.000 | -0.500 | -0.693 | -0.173 | 0.200 | -0.400 | 0.333 —

13 | 1.000 | 0.429 -1 0.260 | -1.179 | 0.600 | 0.500 | -1.732

14 | 2.500 | -1.250 | 2.887 | -0.433 | -0.500 | 1.000 | -0.833 —

15| 1.061 | -0.500 —1-0.150 | 0.500 | 0.424 | -0.354 | 1.000

16 | 3.464 | -3.464 | 1.500 | 1.000 | -1.732 | 1.386 | -1.155 -

17 | -1.563 | 1.105 | 0.368 | 0.221 | 0.589 | 1.000 | 0.833 -

18 | -4.167 | -3.536 | 5.893 | -0.884 | 0.707 | 1.000 | 0.833 —

19 | 1.000 | 0.354 - 0.354 | 2.121 | -0.600 | 0.500 | 0.354

20 | 1.000 | -0.250 -1 -0.866 | -2.250 | 1.200 | -1.000 | 1.155

21 | 3.849 | 2.309 | 2.500 | 1.000 | -0.462 | 0.924 | -0.770 -

22 | 1.000 | 0.606 - 0.212 | -0.412 | -0.240 | 0.200 | -1.414

23 | 1.000 | -1.000 | -1.155 | 0.289 | -0.250 | -0.400 | 0.333 -

24 | 1.000 | -1.000 | -1.155 | 0.289 | 0.222 | 0.667 | 0.444 —

25| 1.000 | 0.600 | 1.732 | -0.260 | -0.750 | 0.600 | 0.500 —

26 | 1.000 | -0.500 | -0.289 | -0.173 | 0.800 | -0.640 | -0.533 -

27 | 1.000 | 0.500 | -1.732 | 0.433 | 0.250 | 0.750 | -0.500 —

28 | 0.866 | -0.217 —1-0.750 | 0.325 | 1.039 | -0.866 | 1.000

29 | 1.000 | -0.333 - 1-0.173 | -0.167 | 0.400 | 0.333 | -0.693

30 | 1.000 | -0.707 | 0.943 | -0.141 | 0.283 | 0.400 | -0.333 -




